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Bl 67,515 154,156 73,883 80,273 |E=E 4~ EHI3T 409 930 455 475
H=-Ey EET4T 175 322 141 181
BEKET1T 805 1,924 942 982 |R=E~EHRI5T 385 738 397 341
BEKET2T 297 780 375 405 5| 1,345 2,834 1,403 1,431
B 1,102 2,704 1,317 1,387 | KEZEHT1T 720 1,690 804 886
< [E BT 6,919 16,843 8,046 8,797 | KEIFMET2T 880 2,026 993 1,033
LtRERT 302 513 260 253 5| 1,600 3,716 1,797 1,919
Tt RER2T 215 449 201 248 | RERT 62 157 76 81
Lt RERST 266 504 264 240 |FRERT2T 176 395 197 198
Tt RER4T 171 326 158 168 (g REHRIST 287 436 143 293
T RERST 120 265 137 128 (A RERT4T 168 264 98 166
Tt RERGT 103 254 127 127 (A RERIST 151 339 154 185
Lt RERTT 66 165 86 79 it 844 1,591 668 923
It RERST 101 215 111 104 |F1E AHAET 1,970 4,856 2,402 2,454
5 1,344 2,691 1,344 1,347 | = AHT 207 447 224 223
JLTFEHEBTIT 201 439 214 225 |BEEERMETTT 234 450 218 232
JLTEEBT2T 924 2,175 1,072 1,103 (B E B RMET2T 443 931 469 462
JLIEHEBI3T 805 1,685 851 834 |BEE ERMET3T 615 1,421 702 719
JLIEHEBT4T 802 1,865 926 939 |BEE ERMET4T 623 1,358 668 690
g 2,732 6,164 3,063 3,101 |BEE B7RHMATST 677 1,686 826 860
B AITET 1,221 3,115 1,540 1,575 B 2,592 5,846 2,883 2,963
==Yl 966 2,223 1,068 1,155 (B B#gdtET1T 222 402 200 202
HERENT 275 541 260 281 |BE EtBiLAT2T 417 919 444 475
HERE2T 400 718 320 398 |BEE EMEILET3T 525 1,131 573 558
HEREIT 269 534 268 266 |BE SH#EILET4T 548 1,168 554 614
HERET4T 141 307 152 155 (B BiEdtETS T 691 1,694 803 891
g 1,085 2,100 1,000 1,100 B 2,403 5,314 2574 2,740
HERENT 1,632 3,492 1,608 1,884 (BT BiBATIT 893 1,891 921 970
HEMET2T 3,002 7,006 3,286 3,720 | S B4EHET2T 134 316 165 151
HEMET3T 3,225 6,905 3,111 3,794 |EE BHEHET3T 2,135 4,731 2,258 2,473
HEMET4T 2,261 4,892 2,188 2,704 B 3,162 6,938 3,344 3,594
HEREETST 1,211 2,848 1,416 1432 | B BT 604 1,502 696 806
5| 11,331 25,143 11,609 13534 |[BEEHEZE2T 448 1,041 522 519
HYERT1T 685 1,911 941 970 | B EETZHAI3T 287 762 378 384
HURET2T 501 1,322 676 646 B 1,339 3,305 1,596 1,709
g 1,186 3,233 1,617 1,616 (BEEAETIT 667 1,419 712 707
=T 676 1,736 845 891 |BEEEARMT2T 246 605 304 301
HAEETIT 716 1,838 883 955 |BE BART3T 1,033 2,913 1,439 1474
HARET2T 190 445 210 235 B 1,946 4,937 2,455 2,482
RT3 T 632 1,485 737 748 |EE BIERETIT 258 597 292 305
g 1,538 3,768 1,830 1,938 (B E BERET2T 196 452 225 227
RKEIRAT 4730 11,266 5,392 5874 |BE BMERHETST 499 1,170 586 584
hREET 293 567 268 299 &t 953 2,219 1,103 1,116
hRER2T 205 399 186 213 |J\TFit 93 219 105 114
hRER3T 205 435 222 213
hRERT4T 259 555 268 287
g 962 1,956 944 1,012
H AT BT 520 1,154 536 618
hEEEETT 508 1,081 502 579
hEEEET2T 690 1,245 598 647
hEEEET3T 428 1,008 487 521
hEEEET4T 597 1,324 660 664
hEEEETST 789 1,705 791 914
hEEEET6T 3,220 6,254 2,922 3,332
5t 6,232 12617 5,960 6,657
7= T 579 1,381 673 708
BAEBFILENT 1,052 2,315 1,131 1,184
BXEFILAT2T 848 1,871 905 966
BXEFILAIST 1,954 4,352 1,963 2,389
BXEFILATAT 746 1,943 934 1,009
B 4600 10,481 4,933 5,548
W EEPZHT2T 1,338 3,359 1,612 1,747
R=E~sEH1T 128 342 173 169
R=E~sEH2T 248 502 237 265




